M- Z2 . (BIH) - HEAY - BYS - Oflarey JjEe | HwsZ
e 75,215,016 56,371,670 18,843,346
= 35,753,346 1,900,000 18,853,346
= 26, 126,000 26, 126,000 0
= 13,335,670 13,345,670 210,000
EHE IS (AEI =X /FE) 306, 240 0 306,240
2 306,240 0 306,240
= Fay 306, 240 0 306,240
= 306,240 0 306,240
CSTIYUFY AEHE(2D) 165,000 0 165,000
= 165,000 0 165,000
403 XIS X0l & 165,000 0 165,000
=2 165,000 0 165,000
01 XS ESE 165,000 0 165,000
O=SBIAUFH A4 I 165,000 0 165,000
= 165,000 0 165,000
e 2R (AlE) AL 141,240 0 141,240
= 141,240 0 141,240
308 XHXI €M S 01 & 141,240 0 141,240
= 141,240 0 141,240
01 HNEHALEES 141,240 0 141,240
OFAHIO AlEAY 141,240 0 141,240
= 141,240 0 141,240
FAHSZNSE L NANL(RELXANL/XALEA) 65,822,651 47,285,545 18,537, 106
= 35,447,106 16,900,000 18,547, 106
= 17,088,000 17,088,000 0
= 13,287,545 13,297,545 210,000
TEEEPI 20,312,451 1,775,345 18,537,106
= 18,547,106 0 18,547,106
=l 143,000 143,000 0
= 1,602,345 1,632,345 £10,000
WEHSTALTE(2D) 12,744,000 0 12,744,000
= 12,744,000 0 12,744,000
403 KX SHRIS KHEO| & 12,744,000 0 12,744,000
= 12,744,000 0 12,744,000
01 HXSHREEE 12,744,000 0 12,744,000
OMIHIET A AL 12,744,000 0 12,744,000
= 12,744,000 0 12,744,000
DIQOyFEe X8 (31) 5,803,106 0 5,803,106
= 5,803, 106 0 5,808, 106
403 KX BRI S R0 B 5,803, 106 0 5,803, 106
= 5,803,106 0 5,803,106
01 XS HAIREE 5,803,106 0 5,808,106
OFEH% MEIEIHY 2SX2I0HIE A 5,803, 106 0 5,803, 106
= 5,803,106 0 5,803, 106

-324-




BN ASFUD
o NSRS L NSHL(RELTANL/TALZA)

Chel: FMEE AN (EHel &8)
L Bh L ES. O (3) - NEAY - BAS Oflarol o Jlmon b HIERE
gt A4S A& 390,000 400,000 10,000

403 XIS S K201 390,000 400,000 210,000

01t IXSHHREZEL 390,000 400,000 210,000

o8t UE NE 390,000 400,000 210,000
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